Year 4 Arithmetic Test 10 teStbase

3x5=

1 mark
4444 - 1000 =

1 mark
70+7+7=

1 mark
61 x0=

1 mark
18 +3 =

1 mark

8080

+ 1212

1 mark
45-9-9=

1 mark
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12 x 4 =

1 mark
7x9=

1 mark
6%x8=

1 mark
98 +1=

1 mark
99 +11=

1 mark
45 -9 =

1 mark
8 7_
5 5

1 mark
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3765 + 445 =

1 mark
6500 — 5600 =

1 mark
5 3
—__—=

7

1 mark
36 +6=

1 mark
640 + ? = 850

1 mark
Ex6x3=

1 mark
52 x6=

1 mark

© Testbase 2015 Page 3
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?-490=70

1 mark
4 x5x6=

1 mark
1357 - 885 =

1 mark

126

x 7

1 mark
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Mark scheme
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